Pravara Medical Trust's Ayurved College & Shri Eknath Ayurved Rugnalaya, Shevgaon

BAMS 1st Students Attendance Report Month of December 2023 (UG).

| | | | Month of December 2023 (OG). | | | | |
|-------|-------------------------------|-----------------|------------------------------|--------------|-------------|------------|--|
| Sr.No | Name of The Student | Year | Working Days | Present Days | Absent Days | Percentage | |
| 1 | Acharya Akanksha Santosh | 1st Year2022-23 | 25 | 24 | 1 | 96.00 | |
| 2 | Badak Ritesh Uttamrao | 1st Year2022-23 | 25 | 25 | 0 | 100.00 | |
| 3 | Baglane Shreya Sanjay | 1st Year2022-23 | 25 | 24 | 1 | 96.00 | |
| 4 | Baldota Khushi Pramod | 1st Year2022-23 | 25 | 25 | 0 | 100.00 | |
| 5 | Bangar Pratiksha Ashok | 1st Year2022-23 | 25 | 24 | 1 | 96.00 | |
| 6 | Bhendarkar Shantanu Jaikumar | 1st Year2022-23 | 25 | 23 | 2 | 92.00 | |
| 7 | Bikkad Aditi Vyankat | 1st Year2022-23 | 25 | 22 | 3 | 88.00 | |
| 8 | Bobade Samruddhi Dnyaneshwa | 1st Year2022-23 | 25 | 21 | 4 | 84.00 | |
| 9 | Borude Abhishek Babanrao | 1st Year2022-23 | 25 | 24 | 1 | 96.00 | |
| 10 | Borude Akshada Sharad | 1st Year2022-23 | 25 | 25 | 0 | 100.00 | |
| 11 | Chikate Snehal Dnyaneshwar | 1st Year2022-23 | 25 | 22 | 3 | 88.00 | |
| 12 | Chormale Shraddha Ganesh | 1st Year2022-23 | 25 | 20 | 5 | 80.00 | |
| 13 | Chormale Sumit Sahebrao | 1st Year2022-23 | 25 | 21 | 4 | 84.00 | |
| 14 | Dahiphale Avishkar Balaji | 1st Year2022-23 | 25 | 20 | 5 | 80.00 | |
| 15 | Dandge Ashwini Haridas | 1st Year2022-23 | 25 | 19 | 6 | 76.00 | |
| 16 | Darawade Omkar Ramdas | 1st Year2022-23 | 25 | 19 | 6 | 76.00 | |
| 17 | Davande Rutwik Uttamrao | 1st Year2022-23 | 25 | 20 | 5 | 80.00 | |
| 18 | Davange Rushikesh Pandharinat | 1st Year2022-23 | 25 | 19 | 6 | 76.00 | |
| 19 | Deokar Sanika Hiralal | 1st Year2022-23 | 25 | 25 | 0 | 100.00 | |
| 20 | Dhanvijay Maitreya Pramod | 1st Year2022-23 | 25 | 24 | 1 | 96.00 | |
| 21 | Dhas Akshay Bharat | 1st Year2022-23 | 25 | 19 | 6 | 76.00 | |
| 22 | Diwan Samruddhi Shivaji | 1st Year2022-23 | 25 | 19 | 6 | 76.00 | |
| 23 | Garad Dnyaneshwari Bhausaheb | 1st Year2022-23 | 25 | 20 | 5 | 80.00 | |
| 24 | Garad Vaishnavi Bhimrao | 1st Year2022-23 | 25 | 21 | 4 | 84.00 | |
| 25 | Ghanghav Sainath Rameshwar | 1st Year2022-23 | 25 | 22 | 3 | 88.00 | |
| 26 | Ghatkar Pallavi Jayvant | 1st Year2022-23 | 25 | 24 | 1 | 96.00 | |
| 27 | Ghuge Vaishnavi Shivajirao | 1st Year2022-23 | 25 | 25 | 0 | 100.00 | |
| 28 | Gilda Poonam Hanumandas | 1st Year2022-23 | 25 | 24 | 1 | 96.00 | |

| P | | | | - | | |
|----|--------------------------------|-----------------|----|----|---|--------|
| 29 | Giri Kartik Datta | 1st Year2022-23 | 25 | 25 | 0 | 100.00 |
| 30 | Gutte Bhakti Sudhakar | 1st Year2022-23 | 25 | 24 | 1 | 96.00 |
| 31 | Hingane Neha Subhash | 1st Year2022-23 | 25 | 23 | 2 | 92.00 |
| 32 | Ithape Gaurav Abasaheb | 1st Year2022-23 | 25 | 22 | 3 | 88.00 |
| 33 | Jadhav Shweta Balkrishna | 1st Year2022-23 | 25 | 21 | 4 | 84.00 |
| 34 | Jadhav Vaishnavi Chandrakant | 1st Year2022-23 | 25 | 24 | 1 | 96.00 |
| 35 | Jagtap Vishakha Shahaji | 1st Year2022-23 | 25 | 25 | 0 | 100.00 |
| 36 | Jha Chandani Prasanna | 1st Year2022-23 | 25 | 22 | 3 | 88.00 |
| 37 | Joshi Varad Umesh | 1st Year2022-23 | 25 | 20 | 5 | 80.00 |
| 38 | Kadam Yash Chandrakant | 1st Year2022-23 | 25 | 21 | 4 | 84.00 |
| 39 | Kale Supriya Santosh | 1st Year2022-23 | 25 | 20 | 5 | 80.00 |
| 40 | Kalyankar Almas Rafique | 1st Year2022-23 | 25 | 19 | 6 | 76.00 |
| 41 | Kathale Pratiksha Balalsaheb | 1st Year2022-23 | 25 | 19 | 6 | 76.00 |
| 42 | Khalekar Kalyani Rajendra | 1st Year2022-23 | 25 | 20 | 5 | 80.00 |
| 43 | Khetri Priyanka Rajebhau | 1st Year2022-23 | 25 | 19 | 6 | 76.00 |
| 44 | Kolage Sneha Rangnath | 1st Year2022-23 | 25 | 25 | 0 | 100.00 |
| 45 | Kolhe Shubhangi Mahalerao | 1st Year2022-23 | 25 | 24 | 1 | 96.00 |
| 46 | Kolte Ashwini Shriram | 1st Year2022-23 | 25 | 19 | 6 | 76.00 |
| 47 | Latpate Vidya Suresh | 1st Year2022-23 | 25 | 19 | 6 | 76.00 |
| 48 | Manjare Harshal Sadashiv | 1st Year2022-23 | 25 | 20 | 5 | 80.00 |
| 49 | Manjare Mansi Shashikant | 1st Year2022-23 | 25 | 21 | 4 | 84.00 |
| 50 | Manwar Supriya Rajendra | 1st Year2022-23 | 25 | 22 | 3 | 88.00 |
| 51 | More Sharad Bhagwan | 1st Year2022-23 | 25 | 24 | 1 | 96.00 |
| 52 | More Snehal Devendra | 1st Year2022-23 | 25 | 25 | 0 | 100.00 |
| 53 | Nannaware Vaishnavi Balasaheb | 1st Year2022-23 | 25 | 24 | 1 | 96.00 |
| 54 | Narangale Vaishnavi Digambarra | 1st Year2022-23 | 25 | 25 | 0 | 100.00 |
| 55 | Nipanikar Sujeet Ramkisan | 1st Year2022-23 | 25 | 24 | 1 | 96.00 |
| 56 | Nirve Aditi Bhaskar | 1st Year2022-23 | 25 | 23 | 2 | 92.00 |
| 57 | Omase Bhakti Karbhari | 1st Year2022-23 | 25 | 22 | 3 | 88.00 |
| 58 | Padar Shital Rameshwar | 1st Year2022-23 | 25 | 21 | 4 | 84.00 |
| 59 | Palve Sakshi Vijay | 1st Year2022-23 | 25 | 24 | 1 | 96.00 |
| 60 | Parde Asmita Bhalchandra | 1st Year2022-23 | 25 | 25 | 0 | 100.00 |
| 61 | Patekar Gayatri Sunil | 1st Year2022-23 | 25 | 22 | 3 | 88.00 |

| 62 | Patil Kartik Shivaji | 1st Year2022-23 | 25 | 20 | 5 | 80.00 |
|----|--------------------------------|-----------------|----|----|---|--------|
| 63 | Patil Mrunal Suhas | 1st Year2022-23 | 25 | 21 | 4 | 84.00 |
| 64 | Patil Piyush Manoj | 1st Year2022-23 | 25 | 20 | 5 | 80.00 |
| 65 | Pawar Chetan Himmat | 1st Year2022-23 | 25 | 19 | 6 | 76.00 |
| 66 | Pawar Payal Sunil | 1st Year2022-23 | 25 | 19 | 6 | 76.00 |
| 67 | Pawar Payal Umesh | 1st Year2022-23 | 25 | 20 | 5 | 80.00 |
| 68 | Pawar Prachi Dattaprasad | 1st Year2022-23 | 25 | 19 | 6 | 76.00 |
| 69 | Pawar Prem Santosh | 1st Year2022-23 | 25 | 25 | 0 | 100.00 |
| 70 | Pawar Priyanka Dhananjay | 1st Year2022-23 | 25 | 24 | 1 | 96.00 |
| 71 | Pawar Pruthviraj Murlidhar | 1st Year2022-23 | 25 | 19 | 6 | 76.00 |
| 72 | Pawar Santoshi Mohan | 1st Year2022-23 | 25 | 19 | 6 | 76.00 |
| 73 | Phad Poonam Balasaheb | 1st Year2022-23 | 25 | 20 | 5 | 80.00 |
| 74 | Prajapati Mayur Shivprasad | 1st Year2022-23 | 25 | 21 | 4 | 84.00 |
| 75 | Rathod Bhumika Prakash | 1st Year2022-23 | 25 | 22 | 3 | 88.00 |
| 76 | Rathod Ravindra Subhash | 1st Year2022-23 | 25 | 24 | 1 | 96.00 |
| 77 | Raut Rohini Shankar | 1st Year2022-23 | 25 | 25 | 0 | 100.00 |
| 78 | Sawant Rutuja Bhairavnath | 1st Year2022-23 | 25 | 24 | 1 | 96.00 |
| 79 | Sawant Vaishnavi Vijaykumar | 1st Year2022-23 | 25 | 25 | 0 | 100.00 |
| 80 | Shaikh Mahevish Husen | 1st Year2022-23 | 25 | 24 | 1 | 96.00 |
| 81 | Shelar Pranjal Shankar | 1st Year2022-23 | 25 | 23 | 2 | 92.00 |
| 82 | Shelge Amit Ram | 1st Year2022-23 | 25 | 22 | 3 | 88.00 |
| 83 | Shelke Vaishnavi Shivaji | 1st Year2022-23 | 25 | 21 | 4 | 84.00 |
| 84 | Sokalwar Ritu Sainath | 1st Year2022-23 | 25 | 24 | 1 | 96.00 |
| 85 | Solanke Pratiksha Ganesh | 1st Year2022-23 | 25 | 25 | 0 | 100.00 |
| 86 | Sonkamble Aniket Yadavrao | 1st Year2022-23 | 25 | 22 | 3 | 88.00 |
| 87 | Sontakke Durga Anilrao | 1st Year2022-23 | 25 | 20 | 5 | 80.00 |
| 88 | Suryawanshi Shubhangi Narayar | 1st Year2022-23 | 25 | 21 | 4 | 84.00 |
| 89 | Suryawanshi Vanshika Ranjeetsi | 1st Year2022-23 | 25 | 20 | 5 | 80.00 |
| 90 | Talekar Tejal Nitin | 1st Year2022-23 | 25 | 19 | 6 | 76.00 |
| 91 | Tanpure Rutuja Sunil | 1st Year2022-23 | 25 | 19 | 6 | 76.00 |
| 92 | Tawde Vedant Sumant | 1st Year2022-23 | 25 | 20 | 5 | 80.00 |
| 93 | Tekale Apurva Uddhav | 1st Year2022-23 | 25 | 19 | 6 | 76.00 |
| 94 | Terkar Gaurang Hemant | 1st Year2022-23 | 25 | 25 | 0 | 100.00 |

| 95 | Thawre Nikita Hanuman | 1st Year2022-23 | 25 | 24 | 1 | 96.00 |
|-----|-----------------------------|-----------------|----|----|---|--------|
| 96 | Wagh Prachi Ravi | 1st Year2022-23 | 25 | 19 | 6 | 76.00 |
| 97 | Waghe Harshada Dashrath | 1st Year2022-23 | 25 | 19 | 6 | 76.00 |
| 98 | Waje Sameer Eknath | 1st Year2022-23 | 25 | 20 | 5 | 80.00 |
| 99 | Yadav Pallavi Babasaheb | 1st Year2022-23 | 25 | 21 | 4 | 84.00 |
| 100 | Yadav Shreya Navnath | 1st Year2022-23 | 25 | 22 | 3 | 88.00 |
| 1 | Aware Dhruv Laxman | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
| 2 | Bade Omkar Rajendra | 1st Year2023-24 | 25 | 25 | 0 | 100.00 |
| 3 | Bagul Chhagan Vishvas | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
| 4 | Bagul Sonali Vishvas | 1st Year2023-24 | 25 | 25 | 0 | 100.00 |
| 5 | Bangar Sakshi Anil | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
| 6 | Bapat Harshad Ganesh | 1st Year2023-24 | 25 | 23 | 2 | 92.00 |
| 7 | Barwal Arjun Vijaysing | 1st Year2023-24 | 25 | 22 | 3 | 88.00 |
| 8 | Bhalerao Rushikesh Digamber | 1st Year2023-24 | 25 | 21 | 4 | 84.00 |
| 9 | Bhalewar Ishita Ramesh | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
| 10 | Bhande Poonam Kishanrao | 1st Year2023-24 | 25 | 25 | 0 | 100.00 |
| 11 | Bhikane Siddhi Ramesh | 1st Year2023-24 | 25 | 22 | 3 | 88.00 |
| 12 | Borkar Akshada Navnath | 1st Year2023-24 | 25 | 20 | 5 | 80.00 |
| 13 | Borkar Yash Ruprao | 1st Year2023-24 | 25 | 21 | 4 | 84.00 |
| 14 | Borse Sumit Ravindra | 1st Year2023-24 | 25 | 20 | 5 | 80.00 |
| 15 | Bothe Vaidehi Makarand | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |
| 16 | Darade Tejaswini Sanjay | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |
| 17 | Deokate Akhilesh Suresh | 1st Year2023-24 | 25 | 20 | 5 | 80.00 |
| 18 | Deshmukh Snehal Dayanand | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |
| 19 | Deshmukh Vedant Arun | 1st Year2023-24 | 25 | 25 | 0 | 100.00 |
| 20 | Dhavale Apeksha Vishnu | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
| 21 | Gade Akshay Deepak | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |
| 22 | Gavali Anjali Ramdas | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |
| 23 | Ghuge Pranit Babanrao | 1st Year2023-24 | 25 | 20 | 5 | 80.00 |
| 24 | Gorale Ram Satish | 1st Year2023-24 | 25 | 21 | 4 | 84.00 |
| 25 | Guddhe Shubham Ganeshrao | 1st Year2023-24 | 25 | 22 | 3 | 88.00 |
| 26 | Gulave Gita Ganesh | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
| 27 | Hande Aditi Santosh | 1st Year2023-24 | 25 | 25 | 0 | 100.00 |

| 28 | Jadhav Kajal Bhausaheb | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
|----|---------------------------------|-----------------|----|----|---|--------|
| 29 | Jagdale Suhas Navnath | 1st Year2023-24 | 25 | 25 | 0 | 100.00 |
| 30 | Jaybhaye Varsha Govind | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
| 31 | Jogdand Rutuja Jalindar | 1st Year2023-24 | 25 | 23 | 2 | 92.00 |
| 32 | Kakade Akanksha Dnyaneshwar | 1st Year2023-24 | 25 | 22 | 3 | 88.00 |
| 33 | Kalyankar Neeta Madhav | 1st Year2023-24 | 25 | 21 | 4 | 84.00 |
| 34 | Karhale Vivek Vijay | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
| 35 | Kattulwad Sanskruti Shrikrishna | 1st Year2023-24 | 25 | 25 | 0 | 100.00 |
| 36 | Kawade Tanuja Nana | 1st Year2023-24 | 25 | 22 | 3 | 88.00 |
| 37 | Khadap Gayatri Gopal | 1st Year2023-24 | 25 | 20 | 5 | 80.00 |
| 38 | Khedkar Mahesh Raghunath | 1st Year2023-24 | 25 | 21 | 4 | 84.00 |
| 39 | Kokate Abhishek Balasaheb | 1st Year2023-24 | 25 | 20 | 5 | 80.00 |
| 40 | Koli Snehal Tatyasaheb | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |
| 41 | Kolte Snehal Abasaheb | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |
| 42 | Kotiwale Rutuja Mahesh | 1st Year2023-24 | 25 | 20 | 5 | 80.00 |
| 43 | Kotkar Viraj Pramod | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |
| 44 | Kshirsagar Santosh Arjun | 1st Year2023-24 | 25 | 25 | 0 | 100.00 |
| 45 | Kshirsagar Shreya Nagesh | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
| 46 | Kumbhar Rajeshwari Rajkumar | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |
| 47 | Lad Shweta Sanjay | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |
| 48 | Lahane Shubhangi Vithal | 1st Year2023-24 | 25 | 20 | 5 | 80.00 |
| 49 | Lamture Rushikesh Pandurang | 1st Year2023-24 | 25 | 21 | 4 | 84.00 |
| 50 | Lavhare Dhanshree Madhukar | 1st Year2023-24 | 25 | 22 | 3 | 88.00 |
| 51 | Magar Archita Sunil | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
| 52 | Malani Vedika Ritesh | 1st Year2023-24 | 25 | 25 | 0 | 100.00 |
| 53 | Mane Krishna Digambar | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
| 54 | Mane Shweta Santosh | 1st Year2023-24 | 25 | 25 | 0 | 100.00 |
| 55 | Markad Shruti Pandit | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
| 56 | Motba Mamta Dattatray | 1st Year2023-24 | 25 | 23 | 2 | 92.00 |
| 57 | Mule Sagar Mukundrao | 1st Year2023-24 | 25 | 22 | 3 | 88.00 |
| 58 | Muley Anuradha Balkrishna | 1st Year2023-24 | 25 | 21 | 4 | 84.00 |
| 59 | Nevase Sharvari Sanjay | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
| 60 | Nimbalkar Rutuja Subhash | 1st Year2023-24 | 25 | 25 | 0 | 100.00 |

| | 1 | | | 1 | | |
|----|-----------------------------|-----------------|----|----|---|--------|
| 61 | Palkar Vaishnavi Hanumant | 1st Year2023-24 | 25 | 22 | 3 | 88.00 |
| 62 | Pangarkar Vaishnavi Vijay | 1st Year2023-24 | 25 | 20 | 5 | 80.00 |
| 63 | Pathade Mital Ashok | 1st Year2023-24 | 25 | 21 | 4 | 84.00 |
| 64 | Patil Amar Sharad | 1st Year2023-24 | 25 | 20 | 5 | 80.00 |
| 65 | Patil Ashish Bhagwan | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |
| 66 | Patil Bhagyesh Kalyanrao | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |
| 67 | Patil Nandini Dnyaneshwar | 1st Year2023-24 | 25 | 20 | 5 | 80.00 |
| 68 | Patil Prathamesh Sunil | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |
| 69 | Pawar Anjali Sambhaji | 1st Year2023-24 | 25 | 25 | 0 | 100.00 |
| 70 | Pawar Krushna Ganesh | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
| 71 | Pawar Sumit Hanmant | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |
| 72 | Pendkar Rajnandini Vaijnath | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |
| 73 | Rajguru Gaurav Vijay | 1st Year2023-24 | 25 | 20 | 5 | 80.00 |
| 74 | Rathod Tejaswini Sanjay | 1st Year2023-24 | 25 | 21 | 4 | 84.00 |
| 75 | Raut Ninad Mandkishor | 1st Year2023-24 | 25 | 22 | 3 | 88.00 |
| 76 | Shaikh Aliya Shaikhchand | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
| 77 | Shegokar Ajay Prakash | 1st Year2023-24 | 25 | 25 | 0 | 100.00 |
| 78 | Shinde Aniket Badrinarayan | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
| 79 | Shinde Prerna Parmeshwar | 1st Year2023-24 | 25 | 25 | 0 | 100.00 |
| 80 | Shinde Simran Ashok | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
| 81 | Shinde Vaibhav Hari | 1st Year2023-24 | 25 | 23 | 2 | 92.00 |
| 82 | Shingare Devyani Ganesh | 1st Year2023-24 | 25 | 22 | 3 | 88.00 |
| 83 | Shirmale Amar Somnath | 1st Year2023-24 | 25 | 21 | 4 | 84.00 |
| 84 | Solanke Sneha Sachin | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
| 85 | Sonawane Sumit Suresh | 1st Year2023-24 | 25 | 25 | 0 | 100.00 |
| 86 | Sonune Vaishnavi Gajanan | 1st Year2023-24 | 25 | 22 | 3 | 88.00 |
| 87 | Sulakhe Siddhi Dhananjay | 1st Year2023-24 | 25 | 20 | 5 | 80.00 |
| 88 | Surse Aishwarya Sanjay | 1st Year2023-24 | 25 | 21 | 4 | 84.00 |
| 89 | Surwase Prasann Madhukarrao | 1st Year2023-24 | 25 | 20 | 5 | 80.00 |
| 90 | Tuppekar Shruti Sakharam | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |
| 91 | Ubale Rushikesh Shivaji | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |
| 92 | Varape Dipali Pramod | 1st Year2023-24 | 25 | 20 | 5 | 80.00 |
| 93 | Vishwas Shailesh Sanjay | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |

| 94 | Wadghane Vinod Vitthal | 1st Year2023-24 | 25 | 25 | 0 | 100.00 |
|-----|-------------------------|-----------------|----|----|---|--------|
| 95 | Wagh Vishal Punjaram | 1st Year2023-24 | 25 | 24 | 1 | 96.00 |
| 96 | Waghmare Akanksha Anil | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |
| 97 | Wakankar Diksha Sunil | 1st Year2023-24 | 25 | 19 | 6 | 76.00 |
| 98 | Walunj Tanvi Anil | 1st Year2023-24 | 25 | 20 | 5 | 80.00 |
| 99 | Wavhal Samruddhi Bharat | 1st Year2023-24 | 25 | 21 | 4 | 84.00 |
| 100 | Zate Dipali Mukund | 1st Year2023-24 | 25 | 22 | 3 | 88.00 |